A This dwg is for reference only, Actual dwg should be
based on formal engineering dwg .

THE VITAL COMPONENT NSSK-M2.5-11 = 8 x Screws

= 4 x Spacers

-
>

==
M2.5x0.45P = 10
TaPPED N %
\E <
=
|
Made of equivalent material.
QUALITY VALUE COMPONENTS
PART NUMBER

HPS2.5-11 SPEC. DWG.

o
TITLE
t h e v I ta I THREADED SPACER

MATERIAL COLOR
(: O rT] p O r] e rTI: NYLON 66(UL) 94V-0 NATURAL
SIZE SCALE UNIT CHECK
A4 2:1

mm 7.C




A This dwg is for reference only, Actual dwg should be based
on formal engineering dwg issued by Kang Yang.

NSSK-M2.5-11 = 8 x Screws
THE VITAL COMPONENT =4 x Spacers

4.5

M2.5X0.45P

@
VALCON

QUALITY VALUE COMPONENTS

PART NUMBER
MI2.5-5 SPEC. DWG.

the vital ™

MATERIAL COLOR

C O m p O n e nt NYLON 66(UL) 94V-0 NATURAL
SIZE SCALE UNIT CHECK
A4 2:1

mm Z.C



http://www.tcpdf.org
rcanaway
Toby logo

rcanaway
Valcon logo

rcanaway
the vital component


	HPS2.5-11
	2206



